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x=INN|
Hy T + Z | HERIBE XK 5 z 1584 | 15~645% | 655821 E
w # 57,372 | 148,693 | 75,650 | 73,043 | 22,636 | 111,642 14,415
2N J 7 51 118 85 53 13 84 21
A 1 T H 594 1,701 851 850 293 1,259 149
X o2 T H 923 2,225 1,153 1,072 346 1,595 284
X )3 T H 502 1,097 545 552 115 839 143
2l 4 T H 225 460 233 227 36 355 69
» ® Eo) = 1, 982 5,069 2,508 2,561 749 3,912 408
i (5% Hy 555 1,307 647 660 179 938 190
i ' 1 T H 350 809 402 407 99 607 103
s ® 2 T H 341 918 448 470 108 655 155
Moo E 3 T H 711 1,173 892 881 226 1,279 268
i E =) HT 940 2,077 1,105 972 248 1,536 293
fE £ B 4 T H 13 36 20 16 11 22 3
W £ H 5 T H 791 2, 200 1,123 1,077 | 292 1,625 283
oE ® 1 T H 268 607 285 322 70 418 119
i & ®E 2 T H 385 865 434 431 93 605 167
" & ® 3 T H 595 1, 306 667 639 188 938 180
wm £ ® 4 T H 349 814 398 416 131 602 81
8 £ HE 5 T H 714 1, 560 849 711 170 1,197 193
e £ ®E 6 T H 955 2,771 1, 404 1,373 526 2,095 156
ig] = 1,303 3,801 1,858 1, 943 431 3, 033 337
2 ®» 1 T H 476 952 516 436 122 697 133
2 ® 2 T H 480 1,265 648 617 133 932 200
2 ®» 3 T H 311 7250 0 392 333 128 534 63
2 ®w 4 T H 329 819 415 404 98 584 137
2 A& 1 T H 175 1,551 841 710 211 1, 140 200
2B A T H 311 633 336 297 111 453 69
L= | T H 720 1, 500 791 709 168 1, 145 187
7N th a i) 2, 637 7, 804 3,967 3,837 1,592 5,827 385
N B 1 T OH 344 743 398 345 79 605 59
N B 2 T H 470 1,094 535 559 119 832 143
N B 3 T H 849 1,839 913 926 216 1,342 281
N o B 4 T H 423 969 484 85| 118 707 144
moffF 5 T H 781 2, 346 1,163 1,183 641 1,694 11
N B 6 T H 957 1,838 998 840 240 1,435 163




B3E TR E B, FR(3XM AN - WEX @)
] T =2 | EFEHE|BE K 5 '8 150K | 15~645% | 6550 E
N /7 7 T H 929 2,293 1,140 1,153 329 1,792 172
AN T H 1, 463 4,273 2,132 2,141 655 3, 403 215
AN T H 808 1,986 971 1,015 228 1, 434 324
2\ B i) 1,178 3,325 1,699 1,626 517 2, 540 268
e H il i) 1, 341 3, 457 1,766 1,691 568 2, 587 302
| x i) 2, 936 7,711 4,027 3, 750 1, 370 5, 845 562
fE B & T H 963 2, 250 1,171 1,079 | 349 1,625 276 |
fE B & T H 165 421 200 221 38 307 76
A i) 6,766 | 19,182 9, 666 9,516 3,108 | 14,714 1, 360
+ B & T H 697 1,790 902 888 253 1,393 144
+ =B & T H 1, 344 3,202 1,608 1,594 424 2,492 286
X & 25 64 30 34 7 39 18
X & 1 T H 642 1,931 975 956 460 1,311 160
X & 2 T H 590 1,376 714 662 168 1,040 168
X B 3 T H 546 1,832 701 631 167 1,019 146 |
X & 4 T H 422 1,080 543 537 130 818 182
X @B 5 T H 380 975 490 485 94 118 103
X B 6 T H 197 510 272 238 73 395 42
# &, 1 T H 788 1,687 76 911 167 1,129 391
# H 2 T H 557 1, 404 715 689 245 998 161
#= fr 3 T H 521 1,818 907 911 609 1,172 37
% B 4 T H 436 902 482 420 159 630 113
# B 5 T H 17 1,529 838 691 212 1,131 186
R A Y 2,689 7,650 3,938 3,712 1,051 5,776 823
5 A J& HT 1,822 5,213 2,692 2,521 974 3,855 384
£ = i} 550 1,662 785 8717 157 1, 254 251
% ® 1 T H 810 1,471 824 647 146 1,123 202
% ®E 2 T H 300 657 333 324 89 449 119
= Eig 7N 1) 3,321 9, 417 4,706 4,711 1,206 7,156 1,055
EaR H HT 271 659 338 321 132 489 38
7~ Pl Hy 782 1,802 1,025 77 251 1,427 124




